What did one
snowman say to
the other snowman?

Why did the boy only
wear one snow boot?

Because there was
only a 50 per cent
chance of snow!
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This jigsaw of a rainy day is missing
a piece, but there are four pieces left
in the box. Find the correct piece
and complete the jigsaw.

Starting at row 1, use the letters from the row above to make
a new word in each row until you arrive at the base of the
pyramid with a six-letter word. Clue: a rook in chess.




What do you call a
group of stylish wellies?

Why do shoes
always come in pairs?

Because they’'re
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Wendy today,
cloudy tomorrow!
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Bogtiiul sole mates!
Knock, knock!
Who's there? What is hail?

Hard-boiled rain!

did the umbre
go to the doctor?
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by Neil Locker

WINTER
WORDSEARCH

Find the winter-related words listed below in the grid

was feeling slightly
nder the weather!

Clues

across:

1 Swimming venue. 3 Big cat with a
mane. 7 Small bag for coins. 8 Use a
chair. 9 Mythical creature in Loch Ness.
13 Equipment fastened to winter
sportsperson’s foot. 14 Bird’s perch.

16 Circle. 17 Shortened name for Edward.

down:

1 Head of the Roman Catholic Church.
2 Paddle for a rowing boat. 4 Edition of
magazine, for example. 5 Musical sound
or a short letter. 6 Pudding or sweet
course. 10 Vegetable which can make
you cry. 11 Former ruler of Russia.

12 Remain. 15 Unusual.
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